11. 7 feet = inches

20 pints = quarts
10 gallons = cups
19 pints = _quarts

12. A rectangle has a length of 1.35 inches and a width of .85 inches. What is
its area?
a. 2.2 square inches
b. 86.35 square inches
¢. 1.1475 square inches
d. 114.75 square inches

13. A rectangle has an area of 0.95 square miles. The length is 1.25 miles.
What is the width?
a. 0.76 miles
b. 1.1875 miles
c. 1.3157 miles
d. 2.2 miles

14. How many '2 cup servings of fruit are in a container containing 6 cups of
fruit?
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15. Given the numbers below, list them in order form least to greatest.

0,-4,6,-19, -5 g

16. Which number is located at Point D on the number line?
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5-4-3-2-101234°+5




